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Subtracting without Regrouping Name:
Solve each problem. Answers
1
) 231 2) 3,453 3 61 4 197
-110 - 231 -40 - 43 2
3.
4,
5 4,566 6 27 7 154 8 4,596 >
- 1,035 - - 23 -3.485 6
7.
8.
9 86 100 439 1) 2,327 12) 76 o
-13 - 224 -1,210 -42
E— - - - 10.
11.
12.
13 712 14) 3,431 15) 58 16) 139 13
- 200 - 100 -10 - 14
14,
15.
16.
17) 4,153 18) 86 19) 845 20) 7,749 17.
- 2,001 - 33 - 24 -4,512
18.
19.
20.
1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 121
1) 231 2 3,453 3 61 4 197
-110 - 231 - 40 - 43 ” 3222
121 3,222 21 154
3, 21
4. 154
5 4,566 6 27 7) 154 8 4,596 > 3531
- 1,035 - 5 - 23 - 3,485 . 2
3,531 22 131 1,111
- 131
8 1111
9 86 10) 439 1) 2,327 12) 76 0, /3
-13 -224 - 1,210 -4z 215
73 215 1,117 34 10
11 1117
12, 34
13) 712 14) 3,431 15) 58 16) 139 13, 512
- 200 - 100 -10 - 14
512 3.331 48 125 4. 3331
15. 48
16. 125
17) 4,153 18) 86 19) 845 200 7,749 - 2152
- 2,001 - 33 - 24 - 4,512
2,152 53 821 3,237 18, 53
19, 821
0. 3237
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
3531 131 34 215
154 21 3222 121 1.
1117 22 1111 73
2.
) 231 2) 3,453 3 61 4 197 3.
-110 - 231 - 40 - 43
— I — — 4,
5.
6.
7.
8.
5 4,566 6 27 7) 154 8) 4,596 0,
-1,035 - 5 - 23 - 3,485
- - - - 10.
11.
12.
9 86 10) 439 1) 2,327 12) 76
-13 - 224 -1,210 -42
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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